




(230 + 20% of 120 + 100 ) ÷ 6

(A)59           

(B)69              

(C)49             

(D)55

(E)None of these 



231 + 432 + 532 − 231 + 112 = ?

(A)1056           

(B) 1046             

(C)1176             

(D)1076

(E)None of these 



31² + 16 ³ ÷ 256 × 14 = ?

(A)1285           

(B) 1185             

(C)1085             

(D)1065

(E)None of these 



√(100 + 341 ) × 29 + 136 = ?

(A) 735          

(B)745              

(C)645             

(D)545

(E)None of these 



48 ÷ 24 × 26 + 110  = 50 + ?

(A)102           

(B) 132             

(C)112             

(D)122

(E)None of these 



(12²+ √576 ) + ( 16² + 256÷ 16) = ?

(A)422           

(B)452              

(C)432             

(D)442

(E)None of these 



23³ ÷ 529 + 46 + 22 × 9 = ?

(A)267           

(B)247              

(C) 257            

(D)277

(E)None of these 



1260 ÷ 6  × 24 + 122 − 142 = ?

(A)5320           

(B)5220              

(C)5020             

(D)5120

(E)None of these 



120 % of 320 + √576 + 232 = ? 

(A)620         

(B)630            

(C) 640         

(D)540

(E)None of these 



32² + 46² −39 ² = √324 + ? 

(A)1620         

(B)1612            

(C)1601          

(D)1610

(E)None of these 



385 + 633 + 712 + 224 + 325 = ?

(A) 2279        

(B) 2289           

(C)2269          

(D)2179

(E)None of these 






